
28458

Electric Patio Heater

INSTRUCTION MANUAL
www.monstershop.co.uk



02

PRODUCT DESCRIPTION
SPECIFICATION

Ever wanted to stay out in the garden a little longer watching the sunset, but the cold 
would settle in and force you inside? 

Our Monster Electric Patio Heater can be the resolution! You can now enjoy your 
evenings in your garden or outside space in the comfortable warmth of our 2000w Patio 
Heater. The heater’s height is adjustable, and it comes with a complimentary cover to 
ensure protection when not in use.

PRODUCT SPECIFICS
Steel frame, black powder coat finish
180 - 210 cm (H), 60 cm (D)
3.6kg
2000w
UK plug

ITEM CONTENTS
x Base
x Lower post
x Clamp
x Middle post
x Upper post
x Heating element
x Pack of screws 

1
1
1
1
1
1
1

MATERIAL:
DIMENSIONS: 
WEIGHT:	
ELECTRICITY FLOW:
PLUG:



03

28458 - ELECTRIC PATIO HEATER

SPECIFICATION
PRODUCT FEATURES

Monster Group UK Limited’s liability will be limited to the commercial value of the 
product only.

A.	 Heating element
B.	 Upper post
C.	 Middle post
D.	 Clamp
E.	 Lower post 
F.	 Base

A

B

E

D

C

F



04

SAFETY ADVICE
SAFE WORKING PRACTICE

Please read through the Safe Working Practice to ensure prevention of injury or 
damage to the device.

• Do not use this product for anything other than its intended purposes. The heater can be 
used both indoors and outdoors if the following rules are adhered to. 

• Ensure you have read and fully understood the instruction manual and safety advice 
before using this product. 
 
• Do not leave the electric patio heater unattended. In case of the heater falling to the 
ground, the electronic tip-over switch will activate and turn the heater off.

• Keep away from and out of reach of children and pets.

• Ensure the patio heater is placed on a flat, non-flammable surface. Keep the heating 
element away from anything flammable, such as furniture, pillows, bedding, papers, 
clothes, curtains, etc.

• Please do not touch the heating element as this will get very hot during use. 

• Do not use in extreme weather conditions as this can carry a risk of electrical shock and/ 
or fire hazard.

• Do not touch the heating element with wet hands. Do not allow water to come into 
contact with the heating element.

• Do not rotate the heating element during operation. To change the angle of the heater, 
please wait 15 minutes after the appliance has been switched off. 

• Never place anything on top of the heater as this is a fire hazard (e.g. towels). Do not use 
the heater as a dryer. 

• Turn the heater off when not in use. Ensure the plug is removed from the outlet.

• Remove the plug from outlet and ensure the heater has cooled down before cleaning, 
moving, covering or dismantling. For cleaning advice please see page 6.

• Please do not cover the patio heater with the cover until the patio heater is completely 
cooled down after use. 



05

USER GUIDE
ASSEMBLY INSTRUCTIONS
1.	 Start by ensuring you have every part needed to assemble the electric patio heater. 

2.	 Do NOT plug the heater into the mains until assembly is complete. 

28458 - ELECTRIC PATIO HEATER

 

1

Clamp

4-M6 X 24 Screw
Lower Post Assembly

Base Assembly

3.	 Insert the lower post part into the base and 
secure it tightly with 4 x M6 (20mm) screws. 
Slide the clamp onto the lower post, as shown 
below.

4.	 Join the lower post and the middle 
post together with 3 x M5 (6mm) 
screws.

5.	 Next, join the upper post and the middle post 
together with 3 x M5 (6mm) screws. 

6.	 Lastly, attach the heating element to the upper 
post by rotating the knob and secure it tightly. 
Attach the power cord onto the clamp which 
should be fixed on the lower post. 

7.	 The heating element can be adjusted between 
0º~45º angles. Please ensure the angle is 
adjusted only when the heater is not in use, to 
minimise the risk of injury.  

8.	 Some slight vibration may be noticeable when 
the appliance is switched on. This will stop after 
a few seconds.

 3  4

5

Upper Post 

3 x M5 
Middle Post

Power CordLower Post

Base

20



06

USER GUIDE
MAINTENANCE

Although this heater requires very little maintenance, please adhere to the cleaning advice 
below: 

•	 Always remove the plug from the power outlet and wait for the heater to cool down 
completely before cleaning it. To clean the heater, wipe it with a lint-free cloth or a soft 
brush. Never use abrasive cleaners, scrubbing brushes and chemical cleaners for this 
heater. Do not, under any circumstances, immerse the cord, plug or any part of the 
heater in water or other liquid.  

•	 For heating element replacement or repairs, please get in touch with our customer 
service team for advice.  

•	 Always cover the heater with the rain cover when not in use. 



07

TROUBLESHOOTING
RESOLUTION GUIDE

If there appears to be any part missing from your order, contact our friendly and helpful 
Customer Support Team within 7 days of receipt.

WHAT DO I DO IF THERE ARE MISSING PARTS FROM MY ORDER?

FOR ALL OTHER ISSUES, PLEASE CONTACT OUR
CUSTOMER SUPPORT TEAM.

28458 - ELECTRIC PATIO HEATER

In the case of the heating element not heating up, please check that the heating element, 
the cord or the plug are not damaged. Ensure the outlet that the heater is plugged into is 
working with other appliances. Look for any signs of damage or tear along the length of the 
cord. If in need of more advice, contact our Customer Support Team.

WHAT IF MY HEATING ELEMENT DOESN’T HEAT UP?



SPÉCIFICATIONS
DESCRIPTION DU PRODUIT

8

DÉTAILS DU PRODUIT

LISTE DES PIÈCES

Vous désirez profiter plus longtemps de votre jardin le soir pour admirer le coucher du 
soleil sans que le froid ne s’installe et ne vous force à rentrer ?

Grâce à notre chauffage de terrasse électrique Monster, le problème est résolu ! Vous 
pourrez désormais profiter de vos soirées dans votre jardin ou à l’extérieur sous la 
chaleur confortable de notre chauffage de terrasse 2000w. La hauteur du chauffage est 
réglable et comporte une housse pour le protéger lorsqu’il n’est pas utilisé.  

Cadre en acier, finition thermolacquée noire
180 - 210 cm (H), 60 cm (P)  
3.6kg
2000w
Prise UK 

x Base
x Tube inférieur  
x Collier de serrage
x Tube central 
x Tube supérieur
x élément chauffant  
x Lot de vis 

1
1
1
1
1
1
1

MATIÈRE: 
DIMENSIONS:  
POIDS:
DÉBIT D’ÉLECTRICITÉ: 
PRISE:



9

La responsabilité de Monster Group UK Limited sera limitée à la valeur commerciale 
du produit.

SPÉCIFICATIONS
CARACTÉRISTIQUES DU PRODUIT
A.	 Élément chauffant
B.	 Tube supérieur
C.	 Tube central
D.	 Collier de serrage
E.	 Tube inférieur
F.	 Base

A

B

E

D

C

F

28458 - CHAUFFAGE DE TERRASSE ÉLECTRIQUE



10

CONSEILS DE SÉCURITÉ
PRATIQUE DE TRAVAIL SÉCURITAIRE

Veuillez lire les consignes de sécurité afin d’éviter toutes blessures ou dommages sur l’appareil.

• N’utilisez pas ce produit à d’autres fins que celles auxquelles il est destiné. Le chauffage peut être 
utilisé aussi bien à l’intérieur qu’à l’extérieur si les règles suivantes sont respectées.

• Assurez-vous d’avoir bien lu et compris le manuel d’utilisation et les conseils de sécurité avant 
d’utiliser ce produit.

• Ne laissez pas le chauffage de terrasse électrique sans surveillance. En cas de chute du chauffage, 
l’interrupteur électronique de basculement s’activera et éteindra l’appareil. 

• Tenir à l’écart et hors de portée des enfants et des animaux domestiques.

• Assurez-vous que le chauffage de terrasse soit placé sur une surface plane et ininflammable. 
Éloignez l’élément chauffant de tout objet inflammable, comme les meubles, les oreillers, la literie, 
les papiers, les vêtements, les rideaux, etc.

• Veuillez ne pas toucher l’élément chauffant car il deviendra très chaud lors de son utilisation.

• Ne pas utiliser lors de conditions météorologiques extrêmes car ceci pourrait entraîner un risque de 
choc électrique et/ou d’incendie.

• Ne touchez pas l’élément chauffant si vos mains sont mouillées. Ne laissez pas l’eau entrer en 
contact avec l’élément chauffant.

• Ne tournez pas l’élément chauffant pendant son fonctionnement. Pour modifier l’angle du 
chauffage, veuillez attendre 15 minutes après avoir éteint l’appareil.

• Ne placez jamais aucun élément sur le chauffage afin d’éviter tout risque d’incendie (par exemple 
des serviettes). N’utilisez pas le chauffage comme sèche-linge.

• Éteignez le chauffage lorsqu’il n’est pas utilisé. Assurez-vous que la prise soit retirée de la prise 
murale.

• Retirez la prise de la prise murale et assurez-vous que le chauffage ait eu le temps de refroidir avant 
de le nettoyer, de le déplacer, de le couvrir ou de le démonter. Pour plus de conseils sur l’entretien, 
veuillez consulter la page 6.

• Veuillez vous assurer que le chauffage de terrasse ait complètement refroidi après utilisation avant 
de le recouvrir avec la housse.  
 



11

MODE D’EMPLOI
INSTRUCTIONS DE MONTAGE
1.	 Commencez par vous assurer que vous possédez bien toutes les pièces nécessaires 

pour assembler le chauffage de terrasse électrique. 

 

1

Clamp

4-M6 X 24 Screw
Lower Post Assembly

Base Assembly

2.	 NE PAS brancher le chauffage sur le secteur tant 
que l’assemblage n’est pas terminé.  

3.	 Insérez la partie inférieure du tube dans la base 
et fixez-la fermement avec 4 vis M6 (30 mm). 
Faites glisser le collier de serrage sur le tube 
inférieur, comme illustré ci-dessous.

4.	 Assemblez le tube inférieur et le tube 
central avec 3 vis M5 (6 mm). 

5.	 Ensuite, assemblez le tube supérieur et le tube 
central avec 3 vis M5 (6 mm). 

6.	 Enfin, fixez l’élément chauffant au tube supérieur 
en tournant le bouton et fixez-le fermement. 
Fixez le cordon d’alimentation sur le collier de 
serrage qui doit être fixé sur le tube inférieur 

7.	 L’élément chauffant peut être ajusté à un 
angle compris entre 0º~45º. Veuillez vous 
assurer d’ajuster l’angle uniquement lorsque le 
chauffage n’est pas utilisé, afin de minimiser le 
risque de blessures. 

8.	 De légères vibrations peuvent être perceptibles 
lorsque l’appareil est allumé. Elles s’arrêteront 
après quelques secondes.

 3  4

5

Upper Post 

3 x M5 
Middle Post

Power CordLower Post

Base

28458 - CHAUFFAGE DE TERRASSE ÉLECTRIQUE

20



12

MODE D’EMPLOI
ENTRETIEN
Bien que cet appareil de chauffage nécessite peu d’entretien, veuillez respecter les conseils 
listés ci-dessous : 

•	 Retirez toujours la prise de la prise murale et attendez que le chauffage refroidisse 
complètement avant de le nettoyer. Pour nettoyer le chauffage, essuyez-le avec un 
chiffon non pelucheux ou une brosse douce. N’utilisez jamais de nettoyants abrasifs, 
de brosses à récurer ou de nettoyants chimiques sur cet appareil.N’immergez en 
aucun cas le cordon, la prise ou toute partie de l’appareil de chauffage dans l’eau ou 
tout autre liquide. 

•	 Pour le remplacement ou la réparation de l’élément chauffant, veuillez contacter notre 
équipe du service client afin d’obtenir des conseils. 

•	 Protégez toujours le chauffage à l’aide de la housse de protection lorsqu’il n’est pas 
utilisé.



13

DÉPANNAGE
GUIDE  DE RÉSOLUTION 

S’il semble manquer des pièces à votre commande, contactez notre équipe du service 
client dans les 7 jours suivant la réception.

QUE FAIRE S’IL MANQUE DES PIÈCES À MA COMMANDE? 

POUR TOUT AUTRE PROBLÈME, VEUILLEZ  
CONTACTER NOTRE ÉQUIPE DU SERVICE CLIENT.

Si l’élément chauffant ne produit pas de chaleur, veuillez vérifier que l’élément chauffant, 
le cordon ou la fiche ne sont pas endommagés. Assurez-vous que la prise dans laquelle 
l’élément chauffant est branchée fonctionne avec d’autres appareils. Recherchez tous 
signes de dégâts ou de déchirures sur la longueur du cordon. Si vous avez besoin de 
conseils supplémentaires, veuillez contacter notre équipe du service client. 

QUE FAIRE SI MON ÉLÉMENT CHAUFFANT NE FONCTIONNEPAS ?

28458 - CHAUFFAGE DE TERRASSE ÉLECTRIQUE



14

SPEZIFIKATIONEN
PRODUKTBESCHREIBUNG

PRODUKTSPEZIFIKA 

TEILELISTE

Wollten Sie schon einmal etwas länger draußen im Garten bleiben und den 
Sonnenuntergang beobachten, aber die Kälte zwang Sie, wieder ins Haus zu gehen?

Der elektrische Monster Heizstrahler kann hier Abhilfe schaffen! Genießen Sie die 
Abende im Freien mit der angenehmen Wärme unseres 2000-Watt-Heizstrahlers. Die 
Höhe des Strahlers ist einstellbar und wird mit einer Abdeckung geliefert, die Schutz 
bei Nichtgebrauch gewährleistet.

Stahlrahmen, schwarz pulverbeschichtet
180 - 210 cm (H), 60 cm (D)
3.6kg
2000w
EU-Stecker

x Basis
x unterer Pfosten
x Klemme
x Mittelpfosten
x oberer Pfosten
x Heizelement
x Packung Schrauben

1
1
1
1
1
1
1

MATERIAL:
ABMESSUNGEN: 
GEWICHT: 	
STROM : 	
STECKER: 



15

Die Haftung von Monster Group UK Limited ist auf den Handelswert des Produkts 
beschränkt.

SPEZIFIKATION
PRODUKTMERKMALE

A.	 Heizelement
B.	 Oberer Pfosten
C.	 Mittelpfosten
D.	 Klemme
E.	 Unterer Pfosten
F.	 Basis

A

B

E

D

C

F

28458 - ELEKTRISCHER HEIZSTRAHLER



16

SICHERHEITSHINWEIS
SICHERES ARBEITEN

Bitte lesen Sie die Sicherheitshinweise genau durch, um Verletzungen und Beschädigungen am 
Gerät zu vermeiden.

• Verwenden Sie dieses Produkt nur für den vorgesehenen Zweck. Der Heizstrahler kann sowohl 
im Innen- als auch im Außenbereich verwendet werden, wenn die folgenden Regeln eingehalten 
werden: 
 
• Stellen Sie sicher, dass Sie die Bedienungsanleitung und die Sicherheitshinweise gelesen und 
vollständig verstanden haben, bevor Sie dieses Produkt verwenden.
 
• Lassen Sie den elektrischen Heizstrahler nicht unbeaufsichtigt. Falls das Heizgerät zu Boden fällt, 
wird der elektronische Kippschalter aktiviert, der das Heizgerät ausschaltet.
 
• Von Kindern und Haustieren fernhalten.
 
• Stellen Sie sicher, dass der Terrassenheizer auf einer ebenen, nicht brennbaren Oberfläche steht. 
Halten Sie das Heizelement von brennbaren Gegenständen wie Möbel, Kissen, Betten, Papier, 
Kleidung, Vorhängen usw. fern.
 
• Bitte berühren Sie das Heizelement nicht, da dieses während des Gebrauchs sehr heiß wird.
 
• Nicht unter extremen Wetterbedingungen verwenden da dies die Gefahr eines Stromschlags und/
oder Brandgefahr bergen kann.
 
• Berühren Sie das Heizelement nicht mit nassen Händen. Achten Sie darauf, dass kein Wasser mit 
dem Heizelement in Berührung kommt.
 
• Drehen Sie das Heizelement während des Betriebs nicht. Warten Sie 15 Minuten nach dem 
Abschalten des Geräts, wenn Sie es bewegen möchten.
 
• Legen Sie niemals Gegenstände (z.B. Handtücher) auf das Heizgerät, da dies eine Brandgefahr 
darstellt. Verwenden Sie den Heizkörper nicht als Trockner.
 
• Schalten Sie den Heizkörper aus, wenn Sie ihn nicht verwenden. Stellen Sie sicher, dass der Stecker 
aus der Steckdose gezogen ist.
 
• Ziehen Sie den Stecker aus der Steckdose und vergewissern Sie sich, dass das Heizgerät abgekühlt 
ist, bevor Sie es reinigen, bewegen, abdecken oder auseinanderbauen. Reinigungshinweise finden 
Sie auf Seite 6.
 
• Bitte decken Sie den Heizstrahler erst dann mit der Abdeckung ab, wenn der Heizstrahler nach 
Gebrauch vollständig abgekühlt ist. 



17

BENUTZERLEITFADEN
MONTAGEANLEITUNGEN
1.	 Stellen Sie zunächst sicher, dass Sie alle Teile haben, die Sie zum Zusammenbau des 

Heizstrahlers benötigen. 

 

1

Clamp

4-M6 X 24 Screw
Lower Post Assembly

Base Assembly

2.	 Schließen Sie das Heizgerät ERST an den Strom 
an, wenn die Montage abgeschlossen ist. 

3.	 Setzen Sie das untere Pfostenteil in die Basis 
ein und befestigen Sie es mit 4 M6 (20mm)
Schrauben. Schieben Sie die Klemme auf den 
unteren Pfosten, wie unten gezeigt 

4.	 Verbinden Sie als nächstes den 
oberen und den mittleren Pfosten mit 
3 M5 (6mm) Schrauben.

5.	 Verbinden Sie als nächstes den oberen und den 
mittleren Pfosten mit 3 M5 (6mm) Schrauben. 

6.	 Befestigen Sie zuletzt das Heizelement durch 
Drehen des Knopfes an der oberen Stange. 
Befestigen Sie das Netzkabel an der Klemme, die 
am unteren Pfosten befestigt werden sollte. 

7.	 Das Heizelement kann zwischen 0° und 45° 
angewinkelt werden. Stellen Sie sicher, dass 
das Gerät nur angewinkelt wird , wenn es nicht 
in Gebrauch ist, um das Verletzungsrisiko zu 
minimieren. 

8.	 Einschalten des Geräts kann es zu leichten 
Vibrationen kommen .Dies wird nach einigen 
Sekunden aufhören .

 3  4

5

Upper Post 

3 x M5 
Middle Post

Power CordLower Post

Base

28458 - ELEKTRISCHER HEIZSTRAHLER

20



18

BENUTZERLEITFADEN
WARTUNG
Obwohl dieses Heizgerät nur sehr wenig Wartung benötigt, befolgen Sie bitte die 
folgenden Reinigungshinweise: 

•	 Ziehen Sie stets den Stecker aus der Steckdose und warten Sie, bis das Heizgerät 
vollständig abgekühlt ist, bevor Sie es reinigen. Um das Heizgerät zu reinigen, 
wischen Sie es mit einem fusselfreien Tuch oder einer weichen Bürste ab. Verwenden 
Sie für dieses Heizgerät niemals Scheuermittel, Scheuerbürsten und chemische 
Reinigungsmittel. Tauchen Sie unter keinen Umständen das Kabel, den Stecker oder 
andere Teile des Heizgeräts in Wasser oder andere Flüssigkeiten. 

•	 Für den Austausch oder die Reparatur von Heizelementen wenden Sie sich bitte an 
unseren Kundenservice. 

•	 Decken Sie das Heizgerät bei Nichtgebrauch immer mit der Regenhülle ab.



19

FEHLERBEHEBUNG
LÖSUNGSGUIDE

Falls bei Ihrer Bestellung ein Teil zu fehlen scheint, wenden Sie sich bitte innerhalb von 7 
Tagen nach Erhalt der Ware an unser freundliches und hilfsbereites Kundenservice-Team.

WAS MACHE ICH, WENN BEI MEINER BESTELLUNG TEILE FEHLEN?

FÜR ALLE ANDEREN FRAGEN WENDEN SIE SICH BITTE AN  
UNSER KUNDENSERVICE-TEAM.

Sollte das Heizelement nicht warm werden, prüfen Sie bitte, ob das Heizelement, das 
Kabel oder der Stecker beschädigt sind. Stellen Sie sicher, dass die Steckdose, an die das 
Heizgerät angeschlossen ist, bei anderen Geräten funktioniert. Achten Sie auf Anzeichen 
von Beschädigungen oder Rissen im Kabel. Wenn Sie weitere Beratung benötigen, wenden 
Sie sich an unser Kundensupport-Team.

WAS, WENN DAS HEIZELEMENT NICHT HEIZT?

28458 - ELEKTRISCHER HEIZSTRAHLER



20

ESPECIFICACIONES
DESCRIPCIÓN DEL PRODUCTO

ESPECIFICACIONES DEL PRODUCTO 

LISTA DE PIEZAS

¿Alguna vez has querido quedarte en el jardín un rato más viendo la puesta del sol, 
pero el frío se instala y te obliga a entrar?

¡Nuestro Calefactor Eléctrico para Patio Monster puede ser la solución! Ahora puedes 
disfrutar de las tardes en tu jardín o espacio exterior con el cómodo calor de nuestro 
calefactor de patio de 2000w. La altura del calefactor es regulable y viene con una 
funda de regalo para protegerlo cuando no esté en uso.

Estructura de acero, con pintura electrostática negra
180 - 210 cm (H), 60 cm (D)
3.6kg
2000w
Enchufe del Reino Unido

x Base 
x Poste inferior
x Abrazadera
x Poste intermedio
x Poste superior
x Calefactor 
x Paquete de tornillos

1
1
1
1
1
1
1

MATERIAL:
DIMENSIONES:	
PESO:	
FLUJO DE ELECTRICIDAD:
ENCHUFE:



21

La responsabilidad de Monster Group UK Limited estará limitada únicamente al valor 
comercial del producto. 

ESPECIFICACIONES
CARACTERÍSTICAS DEL PRODUCTO

A.	 Resistencia
B.	 Poste superior
C.	 Poste intermedio
D.	 Abrazadera
E.	 Poste inferior
F.	 Base

A

B

E

D

C

F

28458 - CALEFACTOR ELÉCTRICO PARA PATIO



22

CONSEJOS DE SEGURIDAD
PRÁCTICAS DE TRABAJO SEGURAS

Por favor, lee las Prácticas de Trabajo Seguras para asegurar la prevención de lesiones personales 
o daños al dispositivo.

• No utilices este producto para otros fines que no sean los previstos. El calefactor puede utilizarse 
tanto en interiores como en exteriores si se respetan las siguientes normas.
 
• Asegúrate de haber leído y comprendido completamente el manual de instrucciones y los consejos 
de seguridad antes de utilizar este producto.
 
• No dejes el calefactor eléctrico de patio sin vigilancia. En caso de que el calefactor caiga al suelo, el 
interruptor electrónico de vuelco se activará y apagará el calefactor.
 
• Mantenlo fuera del alcance de los niños y mascotas.
 
• Asegúrate de que el calefactor para patios está colocado sobre una superficie plana y no 
inflamable. Mantén la resistencia alejada de cualquier cosa inflamable, como muebles, almohadas, 
ropa de cama, papeles, ropa, cortinas, etc.
 
• Por favor, no toques la resistencia, ya que se calentará mucho durante su uso.
 
• No lo utilices en condiciones meteorológicas extremas, ya que puede suponer un riesgo de 
descarga eléctrica y/o de incendio.
 
• No toques la resistencia con las manos mojadas. No permitas que el agua entre en contacto con la 
resistencia.
 
• No gires la resistencia durante el funcionamiento. Para cambiar el ángulo del calefactor, espera 15 
minutos después de apagar el aparato.
 
• Nunca coloques nunca nada encima del calefactor, ya que esto supone un riesgo de incendio (por 
ejemplo, toallas). No utilices el calefactor como secadora.
 
• Apaga el calefactor cuando no lo uses. Asegúrate de que el enchufe está desconectado del toma 
corriente.
 
• Retira el enchufe del toma corriente y asegúrate de que el calefactor se ha enfriado antes de 
limpiarlo, moverlo, cubrirlo o desmontarlo. Para consejos de limpieza, por favor consulta la página 6.
 
• Por favor, no cubras el calefactor para patios con la tapa hasta que se haya enfriado completamente 
después de usar.
 



23

GUÍA DEL USUARIO
INSTRUCCIONES DE ENSAMBLAJE
1.	 Empieza por asegurarte de tener todas las piezas necesarias para montar el calefactor 

eléctrico de patio. 

 

1

Clamp

4-M6 X 24 Screw
Lower Post Assembly

Base Assembly

2.	 NO conectes el calefactor a la red eléctrica 
hasta que se haya completado el montaje. 

3.	 Introduce el poste inferior en la base y fíjala 
bien con 4 tornillos M6 (20 mm). Desliza la 
abrazadera en el poste inferior, como se 
muestra a continuación.

4.	 Une el poste inferior y el intermedio 
con 3 tornillos M5 (6 mm). 

5.	 A continuación, une el poste superior al 
intermedio con 3 tornillos M5 (6mm). 
 

6.	 Por último, fija la resistencia al poste superior 
girando el pomo y fijándolo bien. Coloca el cable 
de alimentación en la abrazadera que debe estar 
en el poste inferior. 

7.	 La resistencia puede ajustarse entre ángulos 
de 0º~45º. Asegúrate de ajustar el ángulo sólo 
cuando el calefactor no esté en uso, para 
minimizar el riesgo de lesiones. 

8.	 Puede notarse una ligera vibración al encender 
el aparato. Esto terminará al cabo de unos 
segundos.

 3  4

5

Upper Post 

3 x M5 
Middle Post

Power CordLower Post

Base

28458 - CALEFACTOR ELÉCTRICO PARA PATIO

20



24

GUÍA DEL USUARIO
MANTENIMIENTO
Aunque este calefactor requiere muy poco mantenimiento, sigue los siguientes consejos 
de limpieza: 

•	 Desconecta siempre el enchufe del toma corriente y espera a que el calefactor se 
enfríe completamente antes de limpiarlo. Para limpiar el calefactor, pasa un paño sin 
pelusas o un cepillo suave. No uses nunca limpiadores abrasivos, cepillos de fregar ni 
limpiadores químicos para este calefactor. No sumerjas, en ninguna circunstancia, el 
cable, el enchufe o cualquier parte del calefactor en agua u otro líquido. 

•	 Para sustituir o reparar la resistencia, ponte en contacto con nuestro equipo de 
atención al cliente para que te asesore. 

•	 Cubre siempre el calefactor con la cubierta para lluvia cuando no lo utilices.



25

SOLUCIÓN DE PROBLEMAS
GUÍA DE RESOLUCIÓN

Si parece faltar alguna pieza en su pedido, por favor, comuníquese con nuestro amable 
y servicial Equipo de Atención al Cliente en los 7 días posteriores a la recepción de su 
pedido.

¿QUÉ PUEDO HACER SI LE FALTAN PIEZAS A MI PEDIDO?

PARA CUALQUIER OTRO PROBLEMA, POR FAVOR CONTACTE 
CON NUESTRO EQUIPO DE ATENCIÓN AL CLIENTE

Si la resistencia no se calienta, comprueba que la resistencia, el cable o el enchufe no 
estén dañados. Asegúrate de que el toma corriente en la que está enchufado el calentador 
funciona con otros aparatos. Busca cualquier signo de daño o rotura a lo largo del cable. Si 
necesitas más consejos, ponte en contacto con nuestro equipo de atención al cliente.

¿QUÉ OCURRE SI MI CALEFACTOR NO CALIENTA?

28458 - CALEFACTOR ELÉCTRICO PARA PATIO



26

SPECIFICHE
DESCRIZIONE DEL PRODOTTO

SPECIFICHE DEL PRODOTTO  

LISTA COMPONENTI

Quante volte avete desiderato rimanere in giardino un po’ più a lungo per attendere il 
tramonto, ma il freddo pungente vi ha costretto a rientrare in casa?

Il nostro Riscaldatore elettrico per esterni Monster può essere la soluzione perfetta ai 
vostri desideri! Potrete godervi le serate nel vostro giardino o spazio esterno grazie al 
confortevole calore del nostro riscaldatore per esterni, dotato di una potenza di 2000w. 
L’altezza del radiatore è regolabile, e viene fornito con una copertura omaggio per 
garantire la protezione dell’apparecchio quando non viene utilizzato.

Telaio in acciaio, rivestimento in vernice di polvere nera
180 - 210 cm (A), 60 cm (D)  
3.6kg
2000w
Presa UK 

x Base
x Palo inferiore  
x Morsetto
x Palo centrale
x Palo superiore
x Impianto termico  
x Pacchetto con viti

1
1
1
1
1
1
1

MATERIALE: 
DIMENSIONI: 
PESO: 
POTENZA: 
PRESA ELETTRICA:



27

La responsabilità di Monster Group UK Limited sarà limitata al solo valore commerciale 
del prodotto.

SPECIFICHE
CARATTERISTICHE DEL PRODOTTO
A.	 Impianto termico
B.	 Palo superiore
C.	 Palo centrale
D.	 Morsetto
E.	 Palo inferiore
F.	 Base

A

B

E

D

C

F

28458 - RISCALDATORE ELETTRICO PER ESTERNI



28

CONSIGLI PER LA SICUREZZA
PRATICHE DI LAVORO SICURO

Si prega di leggere le seguenti istruzioni per prevenire infortuni o danni agli oggetti.

• Non utilizzare questo prodotto per scopi diversi da quelli previsti. Il riscaldatore può essere usato 
sia all’interno che all’esterno, rispettando le seguenti regole: 

• Verificare di aver letto e compreso appieno il manuale di istruzioni e i consigli sulla sicurezza prima 
di utilizzare il prodotto. 

• Non lasciare mai il riscaldatore elettrico incustodito. In caso di caduta a terra accidentale, 
l’interruttore elettronico si attiverà in automatico e spegnerà l’apparecchio. 

• Tenere lontano dalla portata dei bambini e degli animali domestici. 

• Assicurarsi di posizionare il riscaldatore su una superficie piana e non infiammabile. Mantenere 
l’impianto termico lontano da qualsiasi oggetto infiammabile, come mobili, cuscini, biancheria da 
letto, carta, vestiti, tende, etc. 

• Si prega di non toccare mai l’impianto termico durante l’utilizzo, poichè diventerà molto caldo e 
quindi pericoloso. 

• Non utilizzare in condizioni climatiche estreme:  in tali situazioni esiste il rischio di scosse elettriche 
e/o pericolo di incendio. 

• Non toccare l’impianto termico con le mani bagnate. Non permettere mai all’acqua di entrare in 
contatto con l’impianto termico. 

• Non ruotare l’impianto termico durante il funzionamento. Per cambiare l’angolo del riscaldatore, 
attendere almeno 15 minuti dopo lo spegnimento dell’apparecchio. 

• Non appoggiare mai nulla (per esempio asciugamani) sopra il riscaldatore, per evitare il rischio di 
incendio. Non usare il riscaldatore come se fosse un’asciugatrice. 

• Spegnere il riscaldatore quando non è in uso. Assicurarsi sempre che la spina venga rimossa dalla 
presa. 

• Rimuovere la spina dalla presa e assicurarsi che il riscaldatore si sia raffreddato prima di pulirlo, 
spostarlo, coprirlo o smontarlo. Per consigli sulla pulizia, vd. pagina 6. 

• Si prega di non rivestire il riscaldatore da giardino con la apposita copertura fino a quando non si 
sarà completamente raffreddato dopo l’uso.
 



29

GUIDA UTENTE
ISTRUZIONI PER IL MONTAGGIO
1.	 Assicuratevi di dispore delle parti necessarie per assemblare il riscaldatore elettrico per 

esterni. 

 

1

Clamp

4-M6 X 24 Screw
Lower Post Assembly

Base Assembly

2.	 NON collegare mai il riscaldatore alla rete elettrica 
prima del completamento del montaggio. 

3.	 Inserire il palo inferiore nella base e fissarlo 
saldamente con 4 viti M6 (20mm). Stringere il 
morsetto sul palo inferiore, come mostrato sotto

4.	 Unire il palo inferiore a quello centrale 
utilizzando 3 viti M5 (6mm). 

5.	 Successivamente, unire il palo superiore a quello 
centrale con altre 3 viti M5 (6mm). 

6.	 Infine, fissare saldamente l’impianto termico al 
palo superiore, ruotando la manopola. Attaccare 
il cavo di alimentazione sul morsetto che sarà 
stato inserito sul palo inferiore. 

7.	 L’impianto termico può essere regolato tra 0º e 
45º. Si prega di modificarne l’angolazione solo 
quando il riscaldatore non è in uso, per ridurre al 
minimo il rischio di lesioni. 

8.	 All’accensione dell’apparecchio si può notare 
una leggera vibrazione. Cesserà dopo alcuni 
secondi.

 3  4

5

Upper Post 

3 x M5 
Middle Post

Power CordLower Post

Base

28458 - RISCALDATORE ELETTRICO PER ESTERNI

20



30

GUÍA DEL USUARIO
MANTENIMIENTO
Anche se questo riscaldatore richiede una manutenzione minima, si prega di rispettare i 
seguenti consigli per la pulizia: 

•	 Togliere sempre la spina dalla presa di corrente e aspettare che il riscaldatore si 
raffreddi completamente prima di pulirlo. Per pulire il riscaldatore, strofinarlo con un 
panno privo di lanugine o con una spazzola morbida. Non utilizzare mai detergenti 
abrasivi, spazzole e detergenti chimici. Non immergere in nessun caso in acqua o altri 
liquidi il cavo, la spina o qualsiasi altra parte del riscaldatore. 

•	 Per la sostituzione o la riparazione dell’impianto termico, si prega di contattare 
sempre il nostro servizio client, in modo da ricevere l’adeguata consulenza. 

•	 Rivestire sempre il riscaldatore con la copertura antipioggia  in dotazione quando non 
viene utilizzato.



31

RISOLUZIONE DEI PROBLEMI
GUIDA ALLA RISOLUZIONE DEI PROBLEMI

Se sembra che all’interno del tuo ordine manchino delle parti, contatta il nostro gentile e 
disponibile team di assistenza clienti entro 7 giorni dalla ricezione del tuo ordine.

COSA DEVO FARE SE NEL MIO ORDINE CI SONO DELLE PARTI 
MANCANTI?

PER QUALUNQUE ALTRO PROBLEMA, CONTATTA IL NOSTRO 
TEAM DI ASSISTENZA CLIENTI.

Nel caso in cui l’impianto termico non si riscaldi, controllare che tale parte, il cavo o la 
spina non siano danneggiati. Assicurarsi che la presa a cui è collegato l’apparecchio 
funzioni con altri elettrodomestici. Cerca eventuali tagli o segni di danno lungo tutto il 
cavo. Se hai bisogno di ulteriori consigli, contatta il nostro servizio di assistenza clienti.

COSA  SUCCEDE  SE  IL’IMPIANTO  TERMICO  NON  SI  RISCALDA?

28458 - RISCALDATORE ELETTRICO PER ESTERNI



32

PRODUCT OMSCHRIJVING
OMSCHRIJVING

PRODUCTSPECIFICATIES 

ONDERDELENLIJST

Komt het wel eens voor dat u buiten in de tuin van de zonsondergang wil genieten, 
maar dat u door de kou naar binnen gedwongen wordt?

Onze Monster Elektrische Terrasverwarmer kan de oplossing zijn! U kunt nu in uw tuin 
of buitenruimte van de avonden genieten met de aangename warmte van onze 2000w 
Terrasverwarmer. De hoogte van de verwarmer is aanpasbaar, en hij wordt aangeleverd 
met een beschermende hoes voor als hij niet in gebruik is.

Stalen frame, afgewerkt in zwarte poedercoating
180 - 210 cm (H), 60 cm (D)
3.6kg
2000w
UK stekker

x Voet
x Onderste paal
x Klem 
x Middelste paal
x Bovenste paal
x Verwarmingselement
x Zakje met schroeven

1
1
1
1
1
1
1

MATERIAL:
AFMETINGEN: 
GEWICHT:	
VERMOGEN:
STEKKER:



33

De aansprakelijkheid van Monster Group UK Limited is beperkt tot de commerciële 
waarde van het product.

SPECIFICATIE
PRODUCT SPECIFICATIE

A.	 Verwarmingselement
B.	 Bovenste paal
C.	 Middelste paal
D.	 Klem
E.	 Onderste paal
F.	 Voet

A

B

E

D

C

F

28458 - ELEKTRISCHE TERRASVERWARMER



34

VEILIGHEIDSADVIIES
VEILIG GEBRUIK

Lees alstublieft de veiligheidsvoorschriften door om verwondingen of schade aan het apparaat te 
voorkomen.

• Gebruik dit product nooit voor iets anders dan waarvoor het bedoeld is. De verwarmer kan zowel 
binnen als buiten gebruikt worden, zolang onderstaande instructies worden gevolgd.

• Zorg dat u de instructiehandleiding en het veiligheidsadvies heeft gelezen en begrepen voordat u 
dit product gebruikt.

• Laat de elektrische terrasverwarmer nooit onbeheerd aanstaan. In het geval dat hij omver valt zal 
de elektronische omvalschakelaar geactiveerd worden en de verwarmer uitzetten.

• Houd hem uit de buurt en buiten bereik van kinderen en huisdieren.

• Zorg ervoor dat u de terrasverwarmer neerzet op een vlak, niet brandbaar oppervlak. Zet het 
verwarmingselement niet dichtbij alles wat brandbaar is zoals meubels, kussens, dekbedden, papier, 
kleren, gordijnen, etc.

• Raak nooit het verwarmingselement aan, hij wordt erg heet tijdens gebruik.

• Gebruik hem niet tijdens extreme weersomstandigheden. Hierbij is er een risico op elektrische 
schokken en/of brand.

• Raak het verwarmingselement nooit aan met natte handen. Zorg ervoor dat het 
verwarmingselement nooit in aanraking komt met water

• Draai het verwarmingselement nooit om tijdens gebruik. Om de hoek van de verwarmer aan te 
passen moet u eerst 15 minuten wachten nadat hij is uitgezet. 

• Leg nooit iets bovenop de verwarmer (bijvoorbeeld handdoeken) om brandgevaar te voorkomen. 
Gebruik de verwarmer nooit als droger.

• Zet de verwarmer uit wanneer hij niet in gebruik is. Zorg ervoor dat u de stekker uit het stopcontact 
haalt.

• Haal de stekker uit het stopcontact en zorg ervoor dat de verwarmer is afgekoeld voordat u hem 
schoonmaakt, verplaatst, bedekt, of uit elkaar haalt. Voor schoonmaakadvies, zie pagina 6. 

• Zorg ervoor dat de patioverwarmer na gebruik volledig is afgekoeld voordat u de hem met de hoes 
bedekt.



35

HANDLEIDING
MONTAGE-INSTRUCTIES
1.	 Begin door ervoor te zorgen dat u alle benodigde onderdelen heeft die nodig zijn om de 

elektrische patioverwarmer in elkaar te zetten. 

 

1

Clamp

4-M6 X 24 Screw
Lower Post Assembly

Base Assembly

2.	 Doe de stekker NIET in het stopcontact voordat 
de montage voltooid is. 

3.	 Plaats de onderste paal in de voet en zet hem 
stevig vast met 4 x M6 (20mm)schroeven. Schuif 
de klem over de onderste paal zoals hieronder 
afgebeeld.

4.	 Verbind de middelste paal met de 
onderste paal met 3 x M5 (6mm) 
schroeven. 

5.	 Verbind vervolgens de bovenste paal met de 
middelste paal  met 3 x M5 (6mm) schroeven. 

6.	 Tot slot, plaats het verbindingselement op de 
bovenste paal door hem erop te draaien, en zet 
hem stevig vast. Stop het netsnoer in de klem die 
aan de onderste paal vast zou moeten zitten. 

7.	 Het verwarmingselement kan ingesteld worden 
tussen 0°-45° hoeken. Zorg ervoor dat de hoek 
alleen aangepast wordt als de verwarmer niet in 
gebruik is, om het risico op letsel te voorkomen. 

8.	 Een lichte vibratie kan merkbaar zijn wanneer 
het apparaat wordt aangezet. Dit zal na enkele 
seconden stoppen.

 3
 4

5

Upper Post 

3 x M5 
Middle Post

Power CordLower Post

Base

28458 - ELEKTRISCHE TERRASVERWARMER

20



36

HANDLEIDING
ONDERHOUD
Hoewel deze verwarmer erg weinig onderhoud nodig heeft, zijn er de volgende 
schoonmaakadviezen die u moet volgen: 

•	 Verwijder altijd de stekker uit het stopcontact en wacht totdat de verwarmer volledig 
is afgekoeld voordat u hem schoonmaakt. Om de verwarmer schoon te maken 
veegt u hem af met een pluisvrije doek of met een zachte borstel. Gebruik nooit 
schuurmiddelen, schrobborstels, of chemische schoonmaakmiddelen voor deze 
verwarmer. Zet onder geen enkele omstandigheid het netsnoer, de stekker of ieder 
onderdeel van de verwarmer onder water, of iedere andere vloeistof. 

•	 Voor vervanging of reparatie van uw verwarmingselement, neem contact op met onze 
klantenservice voor advies. 

•	 Zorg ervoor dat u de verwarmer na gebruik altijd bedekt met de regenhoes.



37

PROBLEEM OPLOSSEN
OPLOSSINGEN

Neem wanneer een onderdeel van je bestelling ontbreekt binnen 7 dagen na ontvangst 
contact op met onze vriendelijke en behulpzame klantenservice. 

WAT MOET IK DOEN ALS ER ONDERDELEN VAN MIJN BESTEL-
LING ONTBREKEN? 

NEEM VOOR ALLE ANDERE KWESTIES CONTACT  
MET ONZE KLANTENSERVICE OP.

In het geval dat het verwarmingselement niet opwarmt, controleer of het 
verwarmingselement, het netsnoer, of de stekker niet beschadigd zijn. Controleer of het 
stopcontact waar de verwarmer mee verbonden is werkt voor andere apparaten. Kijk of 
er beschadigingen of scheuren in het netsnoer zijn. Als u meer advies nodig heeft kunt u 
contact opnemen met ons Klantenservice Team.

WAT TE DOEN ALS MIJN VERWARMINGSELEMENT NIET OPWARMT?

28458 - ELEKTRISCHE TERRASVERWARMER



38

SPECIFIKATION
PRODUKTBESKRIVNING

MEDFÖLJANDE DELAR

PRODUKTSPECIFIKATIONER 

Har du någonsin velat stanna ute i trädgården lite längre och titta på solnedgången, 
men kylan kom och tvingade dig inomhus?

Vår Monster Elektrisk terassvärmare kan vara lösningen! Nu kan du njuta av dina kvällar 
i trädgården eller utomhus i den behagliga värmen från vår terassvärmare med 2000 
W. Värmarens höjd är justerbar och den levereras med ett tillhörande skydd för att 
garantera skydd när den inte används.

Stålram, svart pulverlack
180 - 210 cm (H), 60 cm (D)
3.6kg
2000w
UK-kontakt

x Bas
x Nedre stöd
x Klämma
x Mellanstöd
x Övre stöd
x Värmeelement 
x Paket med skruvar

1
1
1
1
1
1
1

MATERIAL:
MÅTT:
VIKT:	
ELFLÖDE:
KONTAKT:



39

Monster Group UK Limiteds ansvar begränsas endast till produktens kommersiella värde.

SPECIFIKATION
PRODUKTFUNKTIONER

A.	 Värmeelement
B.	 Övre stöd
C.	 Mellanstöd
D.	 Klämma
E.	 Lägre stöd
F.	 Bas

A

B

E

D

C

F

28458 - ELEKTRISK TERRASSVÄRMARE



40

SÄKERHETSRÅD
SÄKER ARBETSÖVNING

Läs igenom säkerhetsrutinerna för att undvika skador på enheten.

• Använd inte produkten för något annat än det avsedda ändamålet. Värmaren kan 
användas både inomhus och utomhus om följande anvisningar följs.
 
• Försäkra dig om att du har läst och till fullo förstått instruktionsmanualen och 
säkerhetsanvisningar innan du använder produkten.
 
• Lämna inte den elektriska terrassvärmaren obevakad. Om värmaren faller till marken 
aktiveras den elektroniska tippbrytaren och stänger av värmaren.
 
• Håll den borta från och utom räckhåll för barn och husdjur.
 
• Se till att terrassvärmaren placeras på en plan, icke brännbar yta. Håll värmeelementet 
borta från allt brännbart, såsom möbler, kuddar, sängkläder, papper, kläder, gardiner o.s.v.
 
• Rör inte värmeelementet eftersom det blir mycket varmt under användning.
 
• Använd inte produkten i extrema väderförhållanden eftersom detta kan medföra risk för 
elektrisk stöt och/eller brandfara.
 
• Rör inte värmeelementet med våta händer. Låt inte vatten komma i kontakt med 
värmeelementet.
 
• Rotera inte värmeelementet när det är påslaget. Om du vill ändra värmeelementets vinkel 
ska du vänta 15 minuter efter att apparaten har stängts av.
 
• Placera aldrig något ovanpå värmaren eftersom det är en brandrisk (t.ex. handdukar). 
Använd inte värmaren som en tork.
 
• Stäng av värmaren när den inte används. Se till att kontakten inter sitter kvar i uttaget.
 
• Dra ut kontakten ur uttaget och se till att värmaren har svalnat innan du rengör, flyttar, 
täcker eller demonterar den. För råd om rengöring se sida 6.
 
• Täck inte terrassvärmaren med skyddet förrän den är helt nedkyld efter användning.
 



41

ANVÄNDARGUIDE
MONTERINGS INSTRUKTIONER
1.	 Börja med att se till att du har alla delar som behövs för att montera den elektriska 

terrassvärmaren. 

2.	 Anslut INTE värmaren till elnätet förrän monteringen är klar. 

 

1

Clamp

4-M6 X 24 Screw
Lower Post Assembly

Base Assembly

3.	 Sätt in det nedre stödet i basen och fäst det 
ordentligt med 4 x M6-skruvar (20 mm). Skjut 
klämman på den nedre stolpen, enligt bilden 
nedan.

4.	 Sätt ihop det nedre stödet och det 
mellersta stödet med 3 x M5-skruvar 
(6 mm).

5.	 Sätt sedan ihop det övre stödet och det 
mellersta stödet med 3 x M5-skruvar (6mm). 

6.	 Sätt slutligen fast värmeelementet på det övre 
stödet genom att vrida vredet och säkra det 
ordentligt. Fäst strömkabeln på klämman som 
ska fästas på det nedre stödet. 

7.	 Värmeelementet kan justeras mellan 0º~45º-
vinklar. Se till att vinkeln endast justeras när 
värmaren inte används, för att minimera risken 
för skador. 

8.	 Det kan förekomma en liten vibration när 
apparaten slås på. Detta upphör efter några 
sekunder.

 3  4

5

Upper Post 

3 x M5 
Middle Post

Power CordLower Post

Base

28458 - ELEKTRISK TERRASSVÄRMARE

20



42

BRUKSANVISNING 
SKÖTSEL
Även om den här värmaren kräver mycket lite underhåll, följ nedanstående rengöringsråd: 

•	 Dra alltid ut kontakten ur eluttaget och vänta tills värmaren har svalnat helt innan 
du rengör den. För att rengöra värmaren torkar du den med en luddfri trasa eller 
en mjuk borste. Använd aldrig slipande rengöringsmedel, skurborstar eller kemiska 
rengöringsmedel för den här värmaren. Doppa under inga omständigheter sladden, 
kontakten eller någon del av värmaren i vatten eller annan vätska. 

•	 Kontakta vår kundtjänst för råd om du vill byta ut eller reparera värmeelementet. 

•	 Täck alltid över värmaren med regnskyddet när den inte används.



43

FELSÖKNING
LÖSNINGSGUIDE

Om det verkar som om någon del saknas i din beställning, kontakta vårt vänliga och 
hjälpsamma kundsupportteam inom 7 dagar efter mottagandet.

VAD GÖR JAG OM DET SAKNAS DELAR FRÅN MIN BESTÄLLNING?

FÖR ALLA ANDRA FRÅGOR, VÄNLIGEN KONTAKTA VÅRT  
KUNDSUPPORTTEAM.

Om värmeelementet inte värms upp, kontrollera att värmeelementet, sladden eller 
kontakten inte är skadade. Kontrollera att det uttag som värmaren är inkopplad i fungerar 
med andra apparater. Titta efter eventuella tecken på skador längs sladden. Vänligen 
kontakta vår kundtjänst om du behöver ytterligare råd.

VAD HÄNDER OM MITT VÄRMEELEMENT INTE VÄRMS UPP?

28458 - ELEKTRISK TERRASSVÄRMARE



Monster House, Alan Farnaby Way,
Sheriff Hutton Industrial Estate, 
Sheriff Hutton, York, YO60 6PG
www.monstershop.co.uk

Monster Group (UK) is one of the UK’s fastest growing online retailers. We 
supply a diverse range of products which offer exceptional value for money. We 

strive to provide the best possible customer experience with free UK delivery 
across all our products and a Monster Guarantee for 100% satisfaction.

Try Monster. Buy Monster. Be Monster.

TEL: 01347 878 887
EMAIL: help@monstershop.co.uk

SUPPORT-ABTEILUNG

Für fragen über dieses gerät, die 
garantie, rückgaben oder bei 

störungen, benutzen sie die folgenden 
unten aufgeführten angaben.

TEL: 01347 878 888
EMAIL: hallo@monstershop.eu

VERKAUFSABTEILUNG

Für Informationen bezüglich dieses 
Geräts oder anderer produkte aus 

unserer Monster-Abteilung, benutzen 
sie die folgenden unten aufgeführten 

angaben.

TEL: 01347 878 887
EMAIL: help@monstershop.co.uk

DEPARTAMENTO DE SOPORTE

Para consultas sobre este dispositivo, 
la garantía, devoluciones o denuncias 
de fallos por favor use los siguientes 

detalles.

TEL: 01347 878 888
EMAIL: hola@monstershop.eu

DEPARTAMENTO DE VENTAS

Para información sobre este dispositivo 
u otros productos de nuestras 

divisiones de Monster por favor use los 
siguientes detalles.

TEL: 01347 878 887
EMAIL: help@monstershop.co.uk

DIPARTIMENTO SUPPORTO

Per domande riguardo dispositivo, 
garanzia, reso o per riferire di guasti, 

utilizzare i dettagli sotto riportati.

TEL: 01347 878 888
EMAIL: ciao@monstershop.eu

DIPARTIMENTO VENDITE

Per informazioni riguardanti questo 
dispositivo o altri prodotti dalle 

categorie Monster utilizzare i dettagli 
sotto riportati.

TEL: 01347 878 887
EMAIL: help@monstershop.co.uk

DÉPARTEMENT DE SOUTIEN

Pour les interrogations concernant cet appareil, la 
garantie, les retours ou les défauts de déclaration 

veuillez utiliser les détails suivants ci-dessous.

TEL: 01347 878 888
EMAIL: bonjour@monstershop.eu

DÉPARTEMENT COMMERCIAL

Pour plus d’informations concernant cet appareil 
ou d’autres produits de nos divisions de Monster 

veuillez utiliser les détails suivants ci-dessous.

TEL: 01347 878 887
EMAIL: help@monstershop.co.uk

SUPPORT

For queries about this device, warranty, returns or 
reporting faults please contact Support.

TEL: 01347 878 888
EMAIL: hello@monstershop.co.uk

SALES

For information regarding this device or other 
products from our Monster divisions please 

contact Sales.


